PROJECT: HANA HIGHWAY, REPLACEMENT OF UAOA BRIDGE AND APPROACHES													
FEDERAL-AID PROJECT NO.: BR-036-1(14) NET LENGTH OF PROJECT: 0.256 MILE													
ISLAND: MAU! DISTRICT: MAKAWAO TYPE CODE: 1000, X081												÷	
DATE AD	VERTISED: HONOLULU STAR BULLETIN & MAUI NEWS: APRIL 11, 2000			DICK PACIFIC CO	NSTRUCTION	ABHE & SVOBODA, INC.		KIEWIT PACIFIC	CO .	HAWAIIAN DRED		STATE OF HAWA DEPT. OF TRANS	
	NED: MAY 11, 2000									CONSTRUCTION COMPANY		HIGHWAYS DIVISION	
COMPLET	ION TIME: 400 WORKING DAYS	·											
ITEM NO.	ITEM	approx. Quantity	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
202.0440	REMOVAL OF BRIDGE (1 EACH)	L.S.	L.S.	L.S.	\$272,000.00	L.S.	\$217,000.00	L.S.	\$60,000.00	L.S.	\$300,000.00	L.S.	\$195,530.00
202.0441	REMOVAL OF FENCE (480 LIN. FT.)	L.S.	L.S.	L.S.	\$1,000.00	L.S.	\$2,000.00	L.S.	\$1,000.00	· L.S.	\$20,000.00	L.S.	\$1,920.00
202.0442	REMOVAL OF GUARDRAIL (60 LIN. FT.)	L.S.	L.S.	L.S.	\$200.00	L.S.	\$1,000.00	L.S.	\$500.00	L.S.	\$10,000.00	L.S.	\$2,400.00
202.0443	REMOVAL OF CONCRETE SLAB (10 SQ. YD.)	L.S.	L.S.	L.S.	\$400.00	L.S.	\$1,000.00	L.S.	\$1,000.00	L.S.	\$2,000.00	L.S.	\$150.00
203.0100	ROADWAY EXCAVATION - HANA HIGHWAY	8,600 :	CU. YD.	\$7.00	\$60,200.00	\$26.50	\$227,900.00	\$14.00	\$120,400.00	\$27.00	\$232,200.00	\$40.00	\$344,000.00
203.0101	ROADWAY EXCAVATION - DETOUR RAOD PHASE 1	2,933	CU. YD.	\$18.00	\$52,794.00	\$23.50	\$68,925.50 *	\$13.00	\$38,129.00	\$23.00	\$67,459.00	\$40.00	\$117,320.00
203.0102	ROADWAY EXCAVATION - DETOUR RAOD PHASE 2	1,042	CU. YD.	\$28.00	\$29,176.00	\$23.50	\$24,487.00	\$13.00	\$13,546.00	\$23.00	\$23,966.00	\$40.00	\$41,680.00
206.5100	STRUCTURE EXCAVATION FOR MECHANICALLY STABILIZED EARTH RETAINING WALL SYSTEM	3,700	CU. YD.	\$15.00	\$55,500.00	\$20.00	\$74,000.00	\$12.00	\$44,400.00	\$19.00	\$70,300.00	\$50.00	\$185,000.00
206.6000	STRUCTURE EXCAVATION FOR BRIDGE	5,290	CU. YD.	\$140.00	\$740,600.00	\$20.00	\$105,800.00	\$50.00	\$264,500.00	\$140.00	\$740,600.00	\$80.00	\$423,200.00
206.7000	STRUCTURE BACKFILL	3,500	CU, YD.	\$35.00	\$122,500.00	\$20.00	\$70,000.00	\$30.00	\$105,000.00	\$17.00	\$59,500.00	\$60.00	\$210,000.00
206.8000	FILTER MATERIAL	5	CU. YD.	\$60.00	\$300.00	\$200.00	\$1,000.00	\$500.00	\$2,500.00	\$220.00	\$1,100.00	\$80.00	\$400.00
209.0100	EROSION CONTROL	F.A.	F.A.	F.A.	\$80,000.00	F.A.	\$80,000.00	F.A.	\$80,000.00	F.A.	\$80,000.00	F.A.	\$80,000.00
304.1110	AGGREGATE BASE - HANA HIGHWAY	750	CU. YD.	\$85.00	\$63,750.00	\$90.00	\$67,500.00	\$38.00	\$28,500.00	\$100.00	\$75,000.00	\$90.00	\$67,500.00
304.1111	AGGREGATE BASE - DETOUR ROAD PHASE 1	450	CU. YD.	\$85.00	\$38,250.00	\$90.00	\$40,500.00	\$39.00	\$17,550.00	\$100.00	\$45,000.00	\$90.00	\$40,500.00
304.1112	AGGREGATE BASE - DETOUR ROAD PHASE 2	172	CU. YD.	\$87.00	\$14,964.00	\$90.00	\$15,480.00	\$47.00	\$8,084.00	\$100.00	\$17,200.00	\$90.00	\$15,480.00
								·	:				·
		1								l	<u> </u>	SHEET 1 OF 6	

PROJECT: HANA HIGHWAY, REPLACEMENT OF UAOA BRIDGE AND APPROACHES											L.·		
FEDERAL-AID PROJECT NO.: BR-036-1(14) NET LENGTH OF PROJECT: 0.256 MILE													
ISLAND:	MAUI DISTRICT: MAKAWAO TYPE CODE: 1000, X081		•							·		2	
DATE ADV	'ERTISED: HONOLULU STAR BULLETIN & MAUI NEWS: APRIL 11, 2000			DICK PACIFIC CO	ONSTRUCTION	ABHE & SVOBO	DA, INC.	KIEWIT PACIFIC	CO.	HAWAIIAN DREI		STATE OF HAWA DEPT. OF TRAN	
BIDS OPE	NED: MAY 11, 2000	4		·						CONSTRUCTION	N COMPANY	HIGHWAYS DIVISION	
COMPLET	ION TIME: 400 WORKING DAYS	•											
ITEM NO.	ITEM	APPROX.	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
305.1110	AGGREGATE SUBBASE - HANA HIGHWAY	750	CU. YD.	\$56.00	\$42,000.00	\$80.00	\$60,000.00	\$35.00	\$26,250.00	\$90.00	\$67,500.00	\$80.00	\$60,000.00
305.1111	AGGREGATE SUBBASE - DETOUR ROAD PHASE 1	450	CU. YD.	\$58.00	\$26,100.00	\$80.00	\$36,000.00	\$46.00	\$20,700.00	\$90.00	\$40,500.00	\$80.00	\$36,000.00
305.1112	AGGREGATE SUBBASE - DETOUR ROAD PHASE 2	172	CU. YD.	\$58.00	\$9,976.00	\$80.00	\$13,760.00	\$44.00	\$7,568.00	\$90.00	\$15,480.00	\$80.00	\$13,760.00
401.0400	ASPHALT CONCRETE PAVEMENT, MIX NO. IV - HANA HIGHWAY	1,350	TON	\$66.00	\$89,100.00	\$64.40	\$86,940.00	\$65.00	\$87,750.00	\$68.00	\$91,800.00	\$75.00	\$101,250.00
1	ASPHALT CONCRETE PAVEMENT, MIX NO. IV - DETOUR ROAD PHASE 1	776	TON	\$66.00	\$51,216.00	\$62.10	\$48,189.60 *	\$63.00	\$48,888.00	\$68.00	\$52,768.00	\$75.00	\$58,200.00
	ASPHALT CONCRETE PAVEMENT, MIX NO. IV - DETOUR ROAD PHASE 2	296	TON	\$66.00	\$19,536.00	\$83.10	\$24,597.60 *	\$85.00	\$25,160.00	\$68.00	\$20,128.00	\$75.00	\$22,200.00
503.1090	CONCRETE IN BRIDGE (2820 CU. YD)	L.S.	L.S.	L.S.	\$1,950,000.00	L.S.	\$2,621,554.00	L.S.	\$2,425,000.00	L.S.	\$4,337,941.00	L.S.	\$2,820,000.00
504.4100	KEEHI IV PRESTRESSED CONCRETE GIRDERS (1245 LIN. FT.)	L.S.	L.S.	L.S.	\$466,000.00	L.S.	\$450,000.00	L.S.	\$600,000.00	L.S.	\$760,000.00	L.S.	\$498,000.00
504.6100	KEEHI VI PRESTRESSED CONCRETE GIRDERS (820 LIN. FT.)	L.S.	L.S.	L.S.	\$370,000.00	L.S.	\$350,000.00	L.S.	\$400,000.00	L.S.	\$530,000.00	L.S.	\$410,000.00
507.1501	METAL RAILING - TWO RAILS ON PARAPET FOR BRIDGE	645	LIN. FT.	\$83.00	\$53,535.00	\$63.00	\$40,635.00	\$100.00	\$64,500.00	\$66.00	\$42,570.00	\$200.00	\$129,000.00
	METAL RAILING - TWO RAILS ON PARAPET FOR MECHANICALLY STABILIZED EARTH RETAINING WALL SYSTEM	220	LIN. FT.	\$110.00	\$24,200.00	\$63.00	\$13,860.00	\$100.00	\$22,000.00	\$66.00	\$14,520.00	\$200.00	\$44,000.00
507.7001	CONCRETE PARAPET FOR BRIDGE (INCLUDING END POST)	680	LIN. FT.	\$65.00	\$44,200.00	\$220.00	\$149,600.00	\$200.00	\$136,000.00	\$230.00	·	\$200.00	\$136,000.00
	CONCRETE PARAPET FOR MECHANICALLY STABILIZED EARTH RETAINING WALL SYSTEM	220	LIN. FT.	\$87.00	\$19,140.00	\$220.00	\$48,400.00	\$200.00	\$44,000.00	\$260.00	\$57,200.00	\$200.00	\$44,000.00
]							<u></u>	SHEET 2 OF 6	

SHEET 2 OF 6

PROJECT: HANA HIGHWAY, REPLACEMENT OF UAOA BRIDGE AND APPROACHES													
FEDERAL-	AID PROJECT NO.: BR-036-1(14) NET LENGTH OF PROJECT: 0.2	56 MILE				·							
ISLAND:	MAUI DISTRICT: MAKAWAO TYPE CODE: 1000, X081				·								• 1
DATE ADV	ERTISED: HONOLULU STAR BULLETIN & MAUI NEWS: APRIL 11, 2000			DICK PACIFIC CO	NSTRUCTION	ABHE & SVOBODA, INC.		KIEWIT PACIFIC C	O.	HAWAIIAN DRED	GING	STATE OF HAWA DEPT. OF TRANS	
BIDS OPE	NED: MAY 11, 2000							i		CONSTRUCTION	COMPANY	HIGHWAYS DIVIS	SION
COMPLETION TIME: 400 WORKING DAYS						e in the second						ž.	·
ITEM NO.	ITEM	APPROX.	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
511.0020	LOAD TEST	1	EACH	\$73,000.00	\$73,000.00	\$54,550.00	\$54,550.00	\$50,000.00	\$50,000.00	\$56,000.00	\$56,000.00	\$30,000.00	\$30,000.00
511.0100	DRILLED SHAFT - 48-INCH DIAMETER	2,950	LIN. FT.	\$237.00	\$699,150.00	\$245.00	\$722,750.00	\$100.00	\$295,000.00	\$190.00	\$560,500.00	\$400.00	\$1,180,000.00
511.0200	UNCLASSIFIED SHAFT EXCAVATION	2,950	LIN. FT.	* \$121.00	\$356,950.00	\$55.00	\$162,250.00	\$50.00	\$147,500.00	\$60.00	\$177,000.00	\$150.00	\$442,500.00
511.0300	UNCLASSIFIED EXTRA DEPTH EXCAVATION	150	LIN. FT.	\$108.00	\$16,200.00	\$100.00	\$15,000.00	\$50.00	\$7,500.00	\$65.00	\$9,750.00	\$150.00	\$22,500.00
511.0400	DRILLED SHAFT SIDEWALL OVERREAMING	150	LIN. FT.	\$87.00	\$13,050.00	\$20.00	\$3,000.00	\$20.00	\$3,000.00	\$60.00	\$9,000.00	\$50.00	\$7,500.00
511.0500	TRIAL SHAFT HOLES	70	LIN. FT.	\$547.00	\$38,290.00	\$385.00	\$26,950.00	\$500.00	\$35,000.00	\$240.00	\$16,800.00	\$400.00	\$28,000.00
511.0600	FURNISHING DRILLED SHAFT DRILLING EQUIPMENT	L.S.	L.S.	L.S.	\$260,000.00	L.S.	\$42,350.00	L.S.	\$700,000.00	L.S.	\$300,000.00	L.S.	\$40,000.00
517.0700	FURNISHING INSTRUMENTATION AND COLLECTING DATA	L.S.	L.S.	L.S.	\$12,000.00	L.S.	\$7,960.00	L.S.	\$25,000.00	L.S.	\$40,000.00	L.S.	\$10,000.00
520.0100	MSERW MATERIALS FOR RETAINING WALL	5,200	SQ. FT.	\$25.00	\$130,000.00	\$53.00	\$275,600.00	\$35.00	\$182,000.00	\$39.00	\$202,800.00	\$50.00	\$260,000.00
520.0200	SELECT GRANULAR BACKFILL MATERIALS FOR RETAINING WALL	5,800	CU. YD.	\$45.00	\$261,000.00	\$25.00	\$145,000.00	\$22.00	\$127,600.00	\$19.00	\$110,200.00	\$60.00	\$348,000.00
520.0300	CONCRETE LEVELING PAD FOR RETAINING WALL	220	LIN. FT.	\$88.00	\$19,360.00	\$104.00	\$22,880.00	\$15.00	\$3,300.00	\$17.00	\$3,740.00	\$80.00	\$17,600.00
520.0400	CONCRETE CAP ON MSERW FOR RETAINING WALL	220	LIN. FT.	\$115.00	\$25,300.00	\$167.00	\$36,740.00	\$300.00	\$66,000.00	\$127.00	\$27,940.00	\$200.00	\$44,000.00
602.0091	REINFORCING STEEL IN BRIDGE (756,000 LBS)	L.S.	L.S.	L.S.	\$640,000.00	L.S.	\$613,504.00	L.S.	\$900,000.00	L.S.	\$603,000.00	L.S.	\$1,058,400.00
606.3110	GUARDRAIL, TYPE 3 - SINGLE WITH STEEL POST - HANA HIGHWAY	1,000	LIN. FT.	\$26.00	\$26,000.00	\$24.75	\$24,750.00	\$25.00	\$25,000.00	\$26.00	\$26,000.00	\$25.00	\$25,000.00
1	GUARDRAIL, TYPE 3 - THRIE BEAM - INCLUDING TRANSITION - HANA HIGHWAY	100	LIN. FT.	\$95.00	\$9,500.00	\$90.00	\$9,000.00	\$92.00	\$9,200.00	\$95.00	\$9,500.00	\$130.00	\$13,000.00
					·							SHEET 2 OF 6	·

SHEET 3 OF 6

PROJECT	HANA HIGHWAY, REPLACEMENT OF UAOA BRIDGE AND APPROACHES												
FEDERAL-AID PROJECT NO.: BR-036-1(14) NET LENGTH OF PROJECT: 0.256 MILE													•
ISLAND:	ISLAND: MAUI DISTRICT: MAKAWAO TYPE CODE: 1000, X081						·						
DATE AD	/ERTISED: HONOLULU STAR BULLETIN & MAUI NEWS: APRIL 11, 2000			DICK PACIFIC CO	ONSTRUCTION	ABHE & SVOBODA, INC.		KIEWIT PACIFIC		HAWAIIAN DREDGING CONSTRUCTION COMPANY		STATE OF HAWAII DEPT. OF TRANSPORTATION HIGHWAYS DIVISION	
BIDS OPE	NED: MAY 11, 2000											THO INVA TO BIVE	NON
COMPLET	TON TIME: 400 WORKING DAYS							:					
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
606.7000	TERMINAL SECTION, TYPE ET-2000 - HANA HIGHWAY	1.	EACH	\$3,100.00	\$3,100.00	\$3,000.00	\$3,000.00	\$3,030.00	\$3,030.00	\$3,200.00	\$3,200.00	\$10,000.00	\$10,000.00
606.7001	TERMINAL SECTION, TYPE A - HANA HIGHWAY	3	EACH	\$3,600.00	\$10,800.00	\$3,500.00	\$10,500.00	\$3,535.00	\$10,605.00	\$3,700.00	\$11,100.00	\$10,000.00	\$30,000.00
607.9130	WIRE FENCING WITH METAL POSTS	526	LIN. FT.	\$8.00	\$4,208.00	\$9.00	\$4,734.00	\$12.00	\$6,312.00	\$8.00	\$4,208.00	\$100.00	\$52,600.00
609.2616	GUTTER, TYPE 2 (61614)	848	LIN. FT.	\$25.00	\$21,200.00	\$58.00	\$49,184.00	- \$21.00	\$17,808.00	\$25.00	\$21,200.00	\$20.00	\$16,960.00
611.0100	HAND LAID RIPRAP	8 ,	CU. YD.	\$400.00	\$3,200.00	\$2,268.00	\$18,144.00	\$320.00	\$2,560.00	\$300.00	\$2,400.00	\$500.00	\$4,000.00
614.0100	STANDARD STREET SURVEY MONUMENT	6	EACH	\$350.00	\$2,100.00	\$350.00	\$2,100.00	\$800.00	\$4,800.00	\$700.00	\$4,200.00	\$600.00	\$3,600.00
I	IRRIGATION WATER TOWER RELOCATION - INCLUDING NEW 4-INCH PVC PIPE AND FITTINGS (136 LIN. FT.)	L.S.	L.S.	L.S.	\$2,500.00	L.S.	\$21,000.00	L.S.	\$2,500.00	L.S.	\$10,000.00	L.S.	\$3,000.00
621.0100	REGULATORY SIGN (10 SQUARE FEET OR LESS) - HANA HIGHWAY	4	EACH	\$240.00	\$960.00	\$235.00	\$940.00	\$240.00	\$960.00	\$300.00	\$1,200.00	\$350.00	\$1,400.00
4	REGULATORY SIGN (10 SQUARE FEET OR LESS) - DETOUR ROAR PHASE 1 AND 2	2	EACH	\$950.00	\$1,900.00	\$930.00	\$1,860.00	\$940.00	\$1,880.00	\$1,000.00	\$2,000.00	\$350.00	\$700.00
621.0102	CONSTRUCTION SIGN - DETOUR ROAD PHASE 1 AND 2	12	EACH	\$420.00	\$5,040.00	\$310.00	\$3,720.00	\$310.00	\$3,720.00	\$330.00	\$3,960.00	\$350.00	\$4,200.00
621.0200	REFLECTOR MARKER RM-3 - HANA HIGHWAY	12	EACH	\$60.00	\$720.00	\$56.00	\$672.00	\$57.00	\$684.00	\$60.00	\$720.00	\$250.00	\$3,000.00
621.0201	REFLECTOR MARKER RM-4 - HANA HIGHWAY	4	EACH	\$135.00	\$540.00	\$130.00	\$520.00	\$132.00	\$528.00	\$140.00	\$560.00	\$250.00	\$1,000.00
621.0202	REFLECTOR MARKER RM-4 - DETOUR ROAD PHASE 1 AND 2	4	EACH	\$135.00	\$540.00	\$130.00	\$520.00	\$132.00	\$528.00	\$140.00	\$560.00	\$250.00	\$1,000.00
	4-INCH PAVEMENT STRIPING (TAPE, TYPE II OR THERMOPLASTIC EXTRUSION) (2900 LIN. FT.) - HANA HIGHWAY	L.S.	L.S.	LS.	\$3,400.00	L.S.	\$3,305.00	LS.	\$3,370.00	L.S.	\$3,500.00	L.S.	\$3,190.00

SHEET 4 OF 6

PROJECT:	HANA HIGHWAY, REPLACEMENT OF UAOA BRIDGE AND APPROACHES					·						÷		
FEDERAL-AID PROJECT NO.: BR-036-1(14) NET LENGTH OF PROJECT: 0.256 MILE					·									
	ISLAND: MAUI DISTRICT: MAKAWAO TYPE CODE: 1000, X081 DATE ADVERTISED: HONOLULU STAR BULLETIN & MAUI NEWS: APRIL 11, 2000			DICK PACIFIC CO	NSTRUCTION	ABHE & SVOBODA, INC.		KIEWIT PACIFIC CO.		HAWAIIAN DREDGING		STATE OF HAWAII DEPT. OF TRANSPORTATION		
BIDS OPE	NED: MAY 11, 2000									CONSTRUCTION	COMPANI	HIGHWAYS DIVISION		
COMPLET	ON TIME: 400 WORKING DAYS				. •									
ITEM NO.	ITEM	APPROX.	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
	8-INCH PAVEMENT STRIPING (TAPE, TYPE II OR THERMOPLASTIC EXTRUSION) (2900 LIN. FT.) - HANA HIGHWAY	L.S.	L.S.	L.S.	\$6,000.00	L.S.	\$5,900.00	L.S.	\$6,020.00	L.S.	\$6,200.00	L.S.	\$6,380.00	
	4-INCH PAVEMENT STRIPING (TAPE, TYPE II OR THERMOPLASTIC EXTRUSION) (4001 LIN. FT.) - DETOUR ROAD PHASE 1	L.S.	L.S.	L.S.	\$5,800.00	L.S.	\$5,600.00	L.S.	\$5,710.00	L.S.	\$6,000.00	L.S.	\$4,000.00	
	4-INCH PAVEMENT STRIPING (TAPE, TYPE II OR THERMOPLASTIC EXTRUSION) (6892 LIN. FT.) - DETOUR ROAD PHASE 2	L.S.	L.S.	L.S.	\$10,000.00	L.S.	\$9,950.00	L.S.	\$10,150.00	L.S.	\$10,000.00	L.S.	\$7,586.00	
629.2030	TYPE C PAVEMENT MARKERS (74 EACH) - HANA HIGHWAY	L.S.	L.S.	L.S.	\$800.00	L.S.	\$800.00	L.S.	\$810.00	L.S.	\$900.00	L.S.	\$592.00	
629.2040	TYPE D PAVEMENT MARKERS (73 EACH) - HANA HIGHWAY	L.S.	L.S.	L.S.	\$800.00	L.S.	\$800.00	L.S.	\$810.00	L.S.	\$900.00	L.S.	\$584.00	
636.0100	FIELD OFFICE (NOT TO EXCEED \$32,000.00)	L.S.	L.S.	L.S.	\$32,000.00	L.S.	\$32,000.00	L.S.	\$32,000.00	L.S.	\$32,000.00	L.S.	\$32,000.00	
636.1000	PROJECT SITE LABORATORY (NOT TO EXCEED \$22,000.00)	L.S.	L.S.	L.S.	\$22,000.00	L.S.	\$22,000.00	L.S.	\$22,000.00	L.S.	\$22,000.00	L.S.	\$22,000.00	
638.0100	CELLULLAR PHONE (NOT TO EXCEED \$900.00)	L.S.	L.S.	L.S.	\$900.00	L.S.	\$900.00	L.S.	\$900.00	L.S.	\$900.00	L.S.	\$900.00	
640.0100	LINED DRAINAGE DITCH	754	LIN. FT.	\$34.00	\$25,636.00	\$82.00	\$61,828.00	\$24.00	\$18,096.00	\$40.00	\$30,160.00	\$50.00	\$37,700.00	
641.0100	HYDRO-MULCH SEEDING - HANA HIGHWAY	22,813	SQ. FT.	\$0.30	\$6,843.90	\$1.00	\$22,813.00	\$1.50	\$34,219.50	\$1.00	\$22,813.00	\$2.00	\$45,626.00	
641.0101	HYDRO-MULCH SEEDING - DETOUR ROAD PHASE 1	16,020	SQ. FT.	\$0.25	\$4,005.00	\$1.00	\$16,020.00	\$1.50	\$24,030.00	\$1.00	\$16,020.00	\$2.00	\$32,040.00	
641.0102	HYDRO-MULCH SEEDING - DETOUR ROAD PHASE 2	4,337	SQ. FT.	\$0.30	\$1,301.10	\$1.00	\$4,337.00	\$1.50	\$6,505.50	\$1.00	\$4,337.00	\$2.00	\$8,674.00	
645.0100	ADDITIONAL POLICE OFFICERS AND/OR ADDITIONAL TRAFFIC CONTROL DEVICES	F.A.	F.A.	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00	
698.1000	TRAINING (2 TRAINEES)	2,000	HOURS	\$0.80	\$1,600.00	\$0.80	\$1,600.00	\$0.80	\$1,600.00	\$0.80	\$1,600.00	\$0.80	\$1,600.00	
					•									

SHEET 5 OF 6

PROJECT: HANA HIGHWAY, REPLACEMENT OF UAOA BRIDGE AND APPROACHES FEDERAL-AID PROJECT NO.: BR-036-1(14) NET LENGTH OF PROJECT: 0.256 MILE ISLAND: MAU! DISTRICT: MAKAWAO TYPE CODE: 1000, X081 STATE OF HAWAII DATE ADVERTISED: HONOLULU STAR BULLETIN & MAUI NEWS: APRIL 11, 2000 DICK PACIFIC CONSTRUCTION ABHE & SVOBODA, INC. KIEWIT PACIFIC CO. HAWAIIAN DREDGING DEPT. OF TRANSPORTATION CONSTRUCTION COMPANY HIGHWAYS DIVISION BIDS OPENED: MAY 11, 2000 COMPLETION TIME: 400 WORKING DAYS APPROX. UNIT UNIT UNIT UNIT UNIT ITEM NO. ITEM QUANTITY UNIT PRICE AMOUNT PRICE AMOUNT PRICE AMOUNT PRICE AMOUNT PRICE AMOUNT 699.1000 MOBILIZATION (NOT TO EXCEED 10% OF THE SUM OF ALL ITEMS EXCLUDING THE BID PRICE OF THIS ITEM, FIELD OFFICE AND PROJECT SITE LABORATORIES, AND FORCE ACCOUNT ITEMS) L.S. L.S. L.S. \$562,669.00 L.S. \$717,150.00 L.S. \$700,000.00 L.S. \$1,017,000.00 L.S. \$982,432.00 A. SUM OF ALL ITEMS \$8,067,000.00 \$8,174,309.70 \$8,241,161.00 \$11,373,000.00 \$10,990,754.00 B. EITHER FURNISH FOREIGN STEEL NOT EXCEED MINIMAL AMOUNT (FILL IN '0) OR FURNISH FOREIGN STEEL IN EXCESS OF MINIMAL AMOUNT (FILL IN 25% X A) \$0.00 \$0.00 \$0.00 \$0.00 \$0.00

\$8,067,000.00

I certify that this is true and correct tabulation of bids opened for this project.

C. AMOUNT FOR COMPARISON OF BIDS (A + B)

* Corrected Amount

\$8,241,161.00

\$8,174,309.70 *

EMILIO BARROGA, JR

Project Manager

Date

\$10,990,754.00

\$11,373,000.00